TR HF =T

(=g K4 ouT IN Total Hdep  Net R 064£10F 108
B EX EE | 43| 40| 83| 120[ 71.0]
Bl S7E E— | 36 40] 76] 48] 71.2]
3 BXK T | 44] 441 88] 16.8] 71.2]
4 i K= | 39| 39 78] 60/ 720]
(5] WX % | 41| 42] 83] 108] 722]
6 flRE | 41] 45] 86] 13.2] 728]
7 WA B | 37| 40 77| 36| 734 BG (757 %)
8 WA Rl | 37] 39| 76| 24| 736
9 HE Fx | 42] 46] 88] 144] 736
(rofz] WX A | 42] 46] 88 14.4] 73]
11 ha f | 38| 37 75 12| 738 INE BG(75F BILE)
12 KA BE | 40] 40] 80[ 6.0] 740]
13 Hf 2z | 40| 39] 79| 48] 74.2]
14 HH% | 45| 40] 85] 108] 74.2]
(1561] IEA FIA | 40] 39] 79 48] 742]
16 skif =Z—EF | 39 39] 78] 36| 744
17 = B | 42| 42]  84] 9.6 744]
18 MR Xk | 39] 45] 84| 9.6] 744
19 A B | 42| 45| 87| 120[ 750
(20fz] iEE &% | 42| 38] 80] 48] 752]
21 HE B | 42] 41] 83] 72[ 758
22 FHHA IEE | 45| 44] 89| 13.2] 7558
23 2l BX | 41| 41] 82[ 60/ 76.0]
24 &R &z | 53| 45 98] 21.6] 764]
(2561] M+ & | 45] 45]  90[ 13.2] 76.8]
26 J\H BEX | 44] 46] 90| 13.2] 76.8]
27 WA #5F | 51| 50| 101 240[ 770
28 N FYF | 51| 55| 106| 288 77.2]
29 =f & | 47| 45| 92| 144 776
(30fz] ’rep 284 | 50] 52] 102] 240 78.0]
31 HEH shz | 42| 40| 82 3.6 784
32 A IEB] | 57| 55| 112] 33.6] 784
38 HhE HE | 57 48] 105] 252 79.8] K
34 RO &% | 43| 49 92| 120/ 80.0]

*BG=A"AM'OR EA={—% )l Bl=n'—T'4 BB=7—t'— BM=7"-t'—j}—H— AL=7/L/\'FAR

& our QN

| mULE DI B®|@ ]| 5 6 | @D 9 , M| @144 | 16| 4D Total
PAR 5 3 4 4 4 4 5 3 4 | 36 | 4 4 4 3 4 5 4 3 5 | 36 | 72
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TR HF =T

(=g K4 ouT IN Total Hdep  Net R 064£10F 108
(35fz] +#EM EBXE | 40] 48] 88] 7.2] 804
36 wmE IEF | 56 55| 111] 30.0] 81.0]
37 FEE & | 52] 54] 106] 24.0] 820] BB
38 HE & | 53| 45| 98] 156 824 BM
. *BG=A"AM'AR EA={—4¥'l Bl=nN'—T¢ BB=7"—-t'— BM=7—t'—4—f— AL=F7I/N\}AR
& our ‘IN
| mULE DOl @ 5 6 | @D 9 , M| @144 | 16| 4D Total
PAR | 5| 3] 4 41 4] 5[ 3] 4]36]4][4]4][3]4]5]4][3]51]36]72
EIHSFT—(BEEE Page 2/ 2



